H £ 0l & AF & S

Al A

0243 20ilaF ekl M
A ADESYL
Hu: DRI SM2 MADIE DS
Cel: DicHse & D|gHes (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
AMtEESH 570,019,271 470,618,028 99,401,243
= 41,425,509
[ 756,000
Jl 405,180,699
CH 6,000,000
= 116,657,063
LEE SthE gt 2= 569,955,231 470,537,340 99,417,891
= 41,425,509
s 756,000
Il 405,180,699
CH 6,000,000
< 116,593,023
Olchsg Mt Jlests 74,380,000 6,600,000 67,780,000
= 2,800,000
CH 6,000,000
s 65,580,000
A0EE SEHA &d 64,295,000 6,600,000 57,695,000
CH 6,000,000
[ 58,295,000
201 er23| 20,000 20,000
01 AtR2t2|HI 20,000 20,000
OANIEE 33 2dst A& 20,000
403 AXIEHHSAH=201H 64,275,000 6,600,000 57,675,000
CH 6,000,000
= 58,275,000
01 AXIEHM A= 2 £ 64,275,000 6,600,000 57,675,000
aUg ANEE ©X =4 19,800,000
CH 6,000,000
=S 13,800,000
Osgd ANEE S8§HA &4 44,475,000
ANEE 25 6,525,000 6,525,000
403 AXIEHMSA=Z0l1d 6,525,000 6,525,000
01 MHXIHHA 22X 6,525,000 6,525,000
OFds &EE ANEY 25 4,725,000
OSAYUsIHOES) ANER 25 1,800,000
AgdensI |2 NE2Y(ANMEBNK) (2 400,000 400,000
307 glztol & 400,000 400,000
02 2B YA E X 400,000 400,000
OZAe I |2 NE2H(ANERLS) 400,000
NeSat S ANESE 3,160,000 0 3,160,000
= 2,800,000
= 360,000

—_
|




A ANESYEL

33 NIFE site e 5
&2l Olchsg &8 Dlgsts (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
403 X SHHMSAH=01H 3,160,000 0 3,160,000
= 2,800,000
== 360,000
01 AXISHHA 22 % 3,160,000 0 3,160,000
OXNHEs aie ANGEY 3,160,000
= 2,800,000
& 360,000
Algol oYX Mab|gE 25 418,616,580 398,341,205 20,275,375
= 11,910,300
) 399,566,900
< 7,139,380
1LEE st dab|gt 25 ge=d 13,600 12,565 1,035
201 fer= 3| 10,000 10,000 0
02 S3=gHl 10,000 10,000 0
OFAOet=E2l 2= 10,000
203 gF=4| 3,600 2,565 1,035
03 A=A 2= 3,600 2,565 1,035
Ot R 3,600
Jl=2d SAMEM K2 A 388,824,000 381,024,000 7,800,000
Jl 388,824,000
308 AHXIHMSO0IA 388,824,000 381,024,000 7,800,000
Jl 388,824,000
01 HAHHBAEES 388,824,000 381,024,000 7,800,000
OoJlzg sA&=H N3 388,824,000
) 388,824,000
SAXEH #AH X(%) 55,000 55,000 0
Il 55,000
201 2= 46,000 46,000 0
Jl 46,000
01 AtR2t2|HI 46,000 46,000 0
OSAH=MArE 2e| 16,000
Il 16,000
OSAUMEMAIE ST 2N Z 30,000
) 30,000
202 04l 9,000 9,000 0
Jl 9,000
01 =LHOLI 9,000 9,000 0
OSAMEMAIE =2 04H] 9,000
Jl 9,000
SAUAXEH HFH X2 (A2Z4) 1,387,900 1,348,460 39,440
Il 1,387,900
308 AXIHSOIA 1,387,900 1,348,460 39,440




A ADESYL
33 IFE sits dabje 5
R A" HEH dab(g 15 (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
7l 1,387,900
01 HASHHBSEEXS 1,387,900 1,348,460 39,440
OSAUXN=MELZEHIXNZ 114,700
Il 114,700
OSUHEMAIEFA HHH A& 1,273,200
) 1,273,200
e SAMEM 9,300,000 3,000,000 6,300,000
Jl 9,300,000
308 AFAIEHMSOIE 9,300,000 3,000,000 6,300,000
7l 9,300,000
01 HXHHBAEES 9,300,000 3,000,000 6,300,000
OdsxXENEM 9,300,000
) 9,300,000
sHE JIEAE &5 1,799,420 0 1,799,420
403 AXIEHMSAH=0ld 1,799,420 1,799,420
01 A= 2L 1,799,420 1,799,420
Agdtd TS SE 1,799,420
SIHSUAY a2 A8 sIIAH KE 910,000 910,000 0
= 700,000
= 210,000
403 XIS =201 910,000 910,000 0
= 700,000
S 210,000
01 AR A =2 £ 910,000 910,000 0
O=&tX 2=t sJIH X2 910,000
= 700,000
== 210,000
S ALUAY SOIHLUHAIE A X 1,560,000 1,560,000 0
= 1,200,000
= 360,000
403 AXIEHHSA=01d 1,560,000 1,560,000 0
= 1,200,000
= 360,000
01 XIS 2EE 1,560,000 1,560,000 0
OsIIHL A A XIS 1,560,000
= 1,200,000
= 360,000
SIAHLUAMY ==2sI1H Al X2 1,040,000 1,040,000 0
= 800,000
< 240,000
403 MR HHMSAHE01H 1,040,000 1,040,000 0
= 800,000




A ADESYL
M DEI SAS MADE 7S
Chol: Alzro| OLEN MAD|EH D (choy: @2
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 240,000
01 A= 2L 1,040,000 1,040,000 0
O==2=J1AHUH XI& 1,040,000
= 800,000
= 240,000
sSIHSHEX A 185,150 185,150 0
= 107,000
=S 48,150
403 X SHHMSAH=01H 185,150 185,150 0
= 107,000
< 48,150
01 A= 2L 155,150 185,150 0
OsJIASSHEX =5 K& 165,150
= 107,000
== 48,150
AN =SSIENEY usHEE A& 260,400 223,200 37,200
= 210,000
= 50,400
308 XX HMSO0IA 260,400 223,200 37,200
= 210,000
s 50,400
01 HXEHH B E2ES 260,400 223,200 37,200
OMBRNSREAAN IRALE T 260,400
2 210,000
[ 50,400
AMNENESSIEMEY AI2EHl XI& 930,000 188,170 741,830
= 750,000
= 180,000
403 AXIEHHSAH=201H 930,000 188,170 741,830
= 750,000
= 180,000
01 AXISHHA=2E XL 930,000 188,170 741,830
OER=35Z I AIEEYl A& 930,000
= 750,000
== 180,000
AMYNSSSIENSY AU K3 2,081,040 1,598,775 482,265
= 1,600,800
= 480,240
403 AXIEHHSAH=201H 2,081,040 1,598,775 482,265
= 1,600,800
= 480,240
01 AXISHHA2EE 2,081,040 1,598,775 482,265
OAMEHNEI ST M ArCH=2SE X 2,081,040
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2A:

Hr: DED AR A RS
el USE Sty AHIEN I8 = (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
2 7,200
202 01 18,000 18,000 0
2 18,000
ETR 18,000 18,000 0
Ogmpel PREw 18,000
2 18,000
HoormElH| (UA) NRA(AZZA) 2,432,500 2,173,300 259,200
2 2,432,500
308 NXISH SO0/ 2,432,500 2,173,300 259,200
2 2,432,500
01 RIXIEHZ AP ES 2,432,500 2,173,300 259,200
OYmpRIANTE 1,261,500
2 1,261,500
Or-LTI==ET ISP 1,171,000
= 1,171,000
B AZHIAL K& 2,242,500 2,925,460 882,960
2 1,851,000
= 391,500
408 XX SHHIS KH20| & 2,242,500 2,925,460 882,960
= 1,851,000
= 391,500
01 AR AN =5 & 2,242,500 2,925,460 882,960
ORRC 1% - & Al& TR 1,537,900
2 1,309,000
= 228,900
ORPC BANE W4 X2 704,600
2 542,000
= 162,600
DEIN Mo Y RE A 1,973,250 1,009,500 963,750
308 RXICHHI SO0/ 559,500 109,500 450,000
01 KRS Z AP ES 559,500 109,500 450,000
OZLs SEEAH X2 13,500
O=xe 25EH X2 9,000
O= 012 MHhsIt K& 450,000
408 XX EHI S KH20I & 1,413,750 900,000 513,750
01 MRS E2E 1,413,750 900,000 513,750
OS8 U =5 FO(0S0) AlLEE| K 775,200
ORPC HILITIEFAIL T2 68,550
OYBIIZLH NSHEAL X 360,000
O0IZ MMZAT MUMEAIL 2 210,000
2ow 29 2 B= =4 160,600 130,000 30,600
201 Ler2 | 20,000 180,000 A110,000




A ANESYEL

M DEI SAS MADE S
el USE Sty AHIEN I8 = (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 At2t2ltl 20,000 130,000 A110,000
OFSEE=E & s54 82 20,000
307 elzto| & 60,600 0 60,600
02 2B YAIHE A 60,600 0 60,600
Osgy HEEHE |4 60,600
308 AtXIEHMSOIE 80,000 0 80,000
18 SIS AS A 80,000 0 80,000
OFSEE=CE & se4 82 80,000
USE MAD|gh Ald == 16,722,154 17,358,388 AB36,234
= 2,797,621
Il 2,814,799
= 11,109,734
Dt=AAlE SIS X2 388,600 412,332 N23,732
7l 268,000
= 120,600
403 TR SHMSAH=01H 388,600 412,332 N23,732
Jl 268,000
s 120,600
01 AXISHHA =2 £ 388,600 412,332 N23,732
Ot NZE ALzt 388,600
Jl 268,000
[ 120,600
FIAANFZ A& =8 & 2eld] I3 45,000 43,000 2,000
Il 45,000
202 04l 4,500 5,000 A500
Jl 4,500
04 =XIS+0IH] 4,500 5,000 A500
OFTAIONZ St THE H&= M=ot AEHZAL 4,500
Jl 4,500
307 @I2t01 & 6,000 6,000 0
Jl 6.000
02 2IZHBYAIHE X 6,000 6,000 0
OFTAVIS AtAHIE =8 & 2telt] 6,000
) 6,000
308 XXM SO0l 34,500 32,000 2,500
Jl 34,500
01 RSN EES 34,500 32,000 2,500
OFTAOIS AtZHE =8 & 2elHI(AZ3 ) 34,500
Jl 34,500
Heget e A=A UsIt N2 1,222,470 1,367,470 145,000
403 AXIEHMSAH=201d 1,222,470 1,367,470 145,000
01 HXIHHA 22X 1,222,470 1,367,470 145,000




M A

M DFE sats da|g 25
&2l JOSE MAD|EE AL &F (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Ot~ 833 |4 333,795
Odt=30E d=531H X2 554,880
Odo&sE AgM2MEL] EX 333,7%
AL Hat X2 567,713 1,003,422 435,709
7l 417,436
= 150,277
403 TR SMSAH=01H 567,713 1,003,422 A435,709
Il 417,436
s 180,277
01 AXISHHA =22 & 567,713 1,003,422 A435,709
OAIZ30l it S& Ho 499,219
Jl 367,073
[ 132,146
OFb+EMHES T4 68,494
Il 50,363
= 18,131
020k ICT 8= & 815,353 282,321 533,032
Il 569,730
s 245,623
403 XIS XH=01H 815,353 282,321 533,032
Jl 569,730
[ 245,623
01 A= 2L 815,353 282,321 533,032
OICT =8 ANEE ANEES 172,353
) 126,730
= 45,623
OADIEE 24 &= 643,000
7l 443,000
= 200,000
SE20F HUXIZZAIE K& 1,363,347 1,662,962 A\289,615
= 1,002,461
[ 360,886
403 MR HHMSAHE01H 1,363,347 1,652,962 N289,615
= 1,002,461
= 360,886
01 MHXIHHA 22X 1,363,347 1,652,962 A289,615
OAIE 20l ORI 22 A& 1,363,347
= 1,002,461
= 360,886
SS20F ATHHAUHXIAIE X2 2,147,121 997,008 1,150,113
= 1,795,160
== 351,961
403 AXIEHMSAH=0ld 2,147,121 997,008 1,150,113




2A: ANESYHY
M NEH 62 MAD(BE =
Rl JUSE dae AlE EE (SH9 H2)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
= 1,795,160
T 351,961
01 XISHHAE2ER 2,147,121 997,008 1,150,113
OXIGHLIEAIE AR X 459,862
= 418,056
= 41,806
O3J1SYLtHAIL K& 1,681,951
= 1,373,021
& 308,930
OSHRAALAL X2 5,308
= 4,083
T 1,225
D=HIDHFE MEHAIE XI& 562,600 611,900 49,300
J| 388,000
= 174,600
403 MXISHHMSAHE0IA 562,600 611,900 249,300
| 388,000
& 174,600
01 AXISHHA2E X 562,600 611,900 A49,300
OLZF "It THEHAIE K& 562,600
| 383,000
& 174,600
ANAETHA DEE MAAAE &5 760,000 2,434,500 1,674,500
403 XX SHMSKHE0I A 760,000 2,434,500 1,674,500
01 IXISHAE2ER 760,000 2,434,500 1,674,500
QHNESE=Z MAALE 2 510,000
OLNEE AN&ETHA THEHAIE K& 250,000
NS JAUH 2t 6,102,750 3,037,082 3,065,668
308 AXIEHMSOIN 924,000 315,000 609,000
01 AXSHHBAEXRS 924,000 315,000 609,000
Oz XY ELME X 315,000
OGSEHAILGIRA EXI3 Al 105,000
ObOI2Zt &2 ELNE At 504,000
403 MXISHHMSAHE0IA 5,178,750 2,722,082 2,456,668
01 XEXISHI =2 & 5,178,750 2,722,082 2,456,668
OS2 MASEH K& 381,000
O¥E=del 532 84 126,000
OtAS RLAE Y= sS4 A 480,000
OgNE=E MATH-A=sY =X 178,500
O0IMII= 5 Mol tHsssg L3t 178,500
O0tsMilsot SR E X2 At 127,500
OJUSEE XNEYLEH 3,707,250

_11_
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255,000
255,000
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M A

33 IFE site daje 25
R EUSH dADE Al &5 (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Y= HELXFSHEH A8 A& 553,800 0 563,800
Jl 426,000
== 127,800
403 X MSAH=0lH 553,800 0 553,800
) 426,000
< 127,800
01 A= 2L 553,800 0 553,800
OU==HELA FSHE AIZ22 563,800
Il 426,000
= 127,800
A=l =4 53,009,647 41,430,887 11,578,760
= 19,576,088
[ 756,000
Jl 2,799,000
== 29,878,559
SHE HFMM BEE X (IIEEXA) 19,340,900 14,348,400 4,992,500
308 AXIMSO0IA 19,340,900 14,348,400 4,992,500
01 HXHHBAEES 19,340,900 14,348,400 4,992,500
OsgeIgtM Tl 28 XI& 1,360,200
OsHEMiE2E K& 16,809,800
OsJIHESE=E N3 1,170,900
THollCH& AAXt= OIXHAIA 294,000 100,500 193,500
307 lztol & 294,000 100,500 193,500
08 OIXtE2& = 294,000 100,500 193,500
OXHoliCHZ BS A= Ol KtAIE 294,000
RIS K& 441,992 435,000 6,992
= 304,822
= 137,170
308 AFARIEHMSOIE 441,992 435,000 6,992
= 304,822
= 137,170
01 XN EES 441,992 435,000 6,992
ORII=LAM K& 441,992
= 304,822
=S 137,170
=)tz X2 2,264,035 2,264,035 0
308 AHXIEMSOIE 2,264,035 2,264,035
01 XN BSELES 2,264,035 2,264,035
O=JI1Zdlg X& 2,264,035
ELNEM X2 13,015,124 12,264,000 751,124
= 10,080,000
= 2,935,124

—




A ADESYL
Hu: DI SM2 MAIIE DS
el dEdsgolel &4 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
308 XXM SOl 13,015,124 12,264,000 751,124
= 10,080,000
== 2,935,124
01 XN BSELS 13,015,124 12,264,000 751,124
OEIHEHM K& 13,015,124
= 10,080,000
& 2,935,124
SIS HEHIMAAI LS AL 380,000 210,000 170,000
Jl 200,000
= 180,000
403 TR SHMSAH=01H 380,000 210,000 170,000
Jl 200,000
=S 180,000
01 AXISHHA =2 £ 380,000 210,000 170,000
Ozl ZEHI oAl O =t 300,000
Jl 200,000
[ 100,000
OSSEHIMZE NSuH SAH 80,000
s R 1,134,000 0 1,134,000
= 756,000
= 378,000
403 XM SAH=01H 1,134,000 0 1,134,000
s 756,000
== 378,000
01 AXISHHA =22 £ 1,134,000 0 1,134,000
Ozletd=sglle= 1,134,000
= 756,000
< 378,000
g JFotE X2 10,669,519 6,000,000 4,609,519
= 8,891,266
= 1,778,253
308 AHXIHMSO0IA 10,669,519 6,000,000 4,609,519
= 8,891,266
= 1,778,253
01 AXNBEES 10,669,519 6,000,000 4,669,519
Otlz Jterd X& 10,669,519
= 8,891,266
== 1,778,253
sgsagd T2 390,000 682,500 A292,500
= 300,000
= 90,000
308 AtXIEMSOIE 390,000 682,500 A292,500
= 300,000
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A ADESYL
M DEI SAS MADIE TS
el @t dsglet xd EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
detdsgaE 2,733,000 2,000,000 733,000
Jl 2,049,000
== 684,000
308 AXIMSOIA 2,733,000 2,000,000 733,000
) 2,049,000
< 684,000
01 HASHHBAEEXS 2,733,000 2,000,000 733,000
Oxatd3=sg NEX=X 2,049,000
Il 2,049,000
OMEHA Hetd st 2Ny 684,000
JHBHNE 715,000 861,900 146,900
Il 550,000
= 165,000
308 AFAIEHMSOIE 715,000 861,900 146,900
Jl 550,000
= 165,000
01 AXEH B2 LS 715,000 861,900 146,900
OB 22N =H 715,000
Il 550,000
== 165,000
2026 = M3 OI X =722l 360,000 0 360,000
SHEAL MY SSTAL 89 50,000 0 50,000
207 ARl 50,000 0 50,000
01 S| 50,000 0 50,000
O=NAL HHY SSEA EG 50,000
026=MBUX =S XA =2 50,000 0 50,000
306 EH= 50,000 50,000
01 &= 50,000 50,000
O=N2X =S EX?22 2SS 50,000
026= M0 X zeezl =& 260,000 260,000
201 er23| 140,000 140,000
01 At2teltl 90,000 90,000
OQB6=HMZ X T =& 90,000
03 A= I 50,000 0 50,000
O=MBUX =S A XA 2 A 50,000
202 04| 120,000 120,000
01 =LHOLI 10,000 10,000
O2026=HIZ0IXI =&zl =& 0| 10,000
03 2L 110,000 0 110,000
O2026=MIZ0IXI =&zl =& 0| 110,000
HH2LIH(ADIESSM) 64,040 80,688 16,648
[2ZHI(ADESYD 64,040 80,688 16,648
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2A:

A0tE=sE 0

M HHSAAL|(ANESAD)
o JI2ZHl(ADIESS) (EEEE))
2 - IE!
SN - BB SRI(BIH) - NISAY - BES O]t e HlRE2
JI2ZH(ANESYE 64,040 80,688 A 16,648
201 L2 | 30,400 38,760 8,360
01 Ar22eltl 30,400 38,760 28,360
OALIE=Y HRFH 30,400
202 (4t 30,400 38,148 AT,748
01 =LHO4 b 30,400 38,148 N7, 748
OAOIE=Y HRFA 30,400
203 LR =&H| 3,240 3,780 AB40
M 2GS HRFAL 3,240 3,780 AB40
OALIE=Y HRFA 3,240
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